HERBIEACER

F—ESHEHR (BT TREMIARR)
ENBMUEEINGTES

(B) ¥M58F4H1H (#) HM6HF3H31H

(BT : M)
BERIE FE(A) SRE(B) ER(A)-(B) "=

NERRBEINA 0 0
BEGUY-CREEEINA 60, 040, 000 59,970, 169 69, 831
EBELINA 26, 670, 000 27, 409, 454 739, 454

= ”)% EEREEHRUIA 4,300, 000 4,265, 494 34, 506
2| | SHASERNSSINA 5,500 2,196 3,304
Bl | zofmouRA 1,310, 000 1,327,831 -17, 831
}if FEEHNAG (1) 92, 325, 500 92,975, 144 ~649, 644
£| |t 65, 630, 000 64, 432, 949 1,197, 051
3| |EzE=® 6, 935, 000 6,587,613 347,387
e 5,184, 000 4,603, 646 580, 354
2| it | myamsy 0 0
ZOMOH 600, 000 534, 207 65, 793
BEEHZHE (2) 78, 349, 000 76, 158, 415 2,190, 585
EETHEDNZERA (3) = (1) - (2) 13, 976, 500 16, 816, 729 -2, 840, 229
B |y [MER RS MR A 180, 000 -180, 000
B\ A [sremzmact (4) 0 180, 000 -180, 000
f ¥ |EEEEIES S 1,395,070 1,395,070 0
£ | | mSRE (5) 1,395,070 1,395,070 0
? MR REEeINEEE (6) = (4) - (5) 1,395,070 1,215,070 -180, 000
Aty | R | FEZ B AEERARIRA 0 0
O | A |z0MOEBRAG (7) 0 0 0
g N TTEES, 180, 000 174,312 5, 688
= m ZOMMDTEENCL BT 7,750 7,750 0
| |zotoEBzHEt (8) 187,750 182, 062 5, 688
? |ZOMOEBESINTELRE (9) = (7) - (8) -187, 750 -182, 062 -5, 688
FHEZH (10) 0
UHIESINTERESE (11) = (3) + (6) + (9) - (10) 12, 393, 680 15, 419, 597 3,025,917
BIEARINERRS (12) 203, 745, 194 203, 745, 194 0
UERSTIERES (11) + (12) 216, 138, 874 219, 164, 791 3,025,917
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